



**SHRI KRISHAN CHANDER
GOVERNMENT DEGREE COLLEGE POONCH**

Accredited Grade 'A' by NAAC

(Affiliated with University of Jammu)

Near Bus Stand Poonch – 185101

Phone: 01965-220231, Email: degreecollegepoonch@gmail.com,

Web: www.gdcpoonch.co.in

FEE STRUCTURE FOR THE SESSION 2025-26

(A) Government Fee (vide Govt. Order No. 297-HE of 2019 Dated: 30-05-2019)

1	Admission Fee	100 /-
2	Pool Fund	2600 /-
3	Student Aid	150 /-
4	College Maintenance	180 /-
5	Games	250 /-
6	Reading Room Fund	70 /-
7	Furniture Fund	100 /-
8	Stationery Fund	35 /-
9	Magazine Fund	80 /-
10	Motor Vehicle	60 /-
11	Identity Card	50 /-
12	Student Service Fund	50 /-
13	Seminar/Cultural Activities	50 /-
14	Excursion	100 /-
15	Medical Aid	35 /-
16	Relief Fund	30 /-
17	Red Cross	50 /-
18	Miscellaneous	100 /-
19	NSS Fund	60 /-
20	EDUSAT	25 /-
Total		4175/-

(B) University Fee (Revised Fee vide University Notification No. F. Acd / I /24/1427-1530)

20	Sports	610 /- (50 /- to be deposited in Physical Education and 560 /- to be deposited in the University Chest)
21	NSS	170 /- (85 /- shall be retained in the College and 85 /- shall be deposited with the NSS Coordinator JU through DD)
22	Examination Development	390 /- (75 % to COE and 25% to University Chest)
23	Digital Fee	260 /-
24	Cultural Fee	200 /- (50% to be retained in College and 50 % to Dean Students Welfare JU)
25	Corpus Fee	260 /- (to be sent along with RR)
26	DIQA	290 /- (50% to University Chest and 50 % to DIQA)
27	Red Cross Fund	50 /-
28	Examination Form Fee	260/- (130 X 2)
29	Examination Fee	2020/- (1010 X 2)
30	Resource Mobilization Fee	120/-
31	Examination Maintenance Fee	360 /- (180 X 2)
Total		4990/-
	Total from S. No. 01 to 19	4175/-
	Total from S. No. 20 to 31	4990/-



**SHRI KRISHAN CHANDER
GOVERNMENT DEGREE COLLEGE POONCH**

*Accredited Grade 'A' by NAAC
(Affiliated with University of Jammu)*

Near Bus Stand Poonch – 185101

Phone: 01965-220231, Email: degreecollegepoonch@gmail.com,
Web: www.gdcpoonch.co.in

	Insurance Fee	118/-
	Internship Fee	500/-
	Total (A + B)	9783/-

Exam fee: Rs 1010/- (+Rs 180/- Exam Maintenance Fund (EMF) + Rs 130/- per science practical)

Late fee (FYUGP-NEP 2020)

- a) Within 07 days after the last date prescribed for the admission **Rs 420/-** for another account of 07 days and for next 07 days **Rs 810/-**
- b) The Vice Chancellor may consider grant of late admission for 10 days only after the expiry of last date as (a) above Rs 3520/- (Subject to the condition whenever income of candidate's parents is below poverty line (BPL) he/she be exempted for the payment of **Rs 3520/-**. However , late fee shall be charged as such cases as prescribed at (a) above)

Lab Fund Fee / Subject Tour Fee

S. No.	Subject / Lab.	Fee
1.	One Lab	154 /-
2.	Two Labs	238 /-
3.	Three Labs	308 /-
4.	Four Labs	462 /-
5.	Five Labs	546 /-
6.	Subject Tour Fund	105 /-

Additional Fee for Vocational/ Professional Subjects

S. No.	Subject	Fee
1.	Computer	2898 /-
2.	Information Technology	2660 /-
3.	Sericulture	1610 /-
4.	Biotechnology	1610 /-



**SHRI KRISHAN CHANDER
GOVERNMENT DEGREE COLLEGE POONCH**

**Accredited Grade 'A' by NAAC
(Affiliated with University of Jammu)**

Near Bus Stand Poonch - 185101

Phone: 01965-220231, Email: degreecollegepoonch@gmail.com,
Web: www.gdcpoonch.co.in

FEE STRUCTURE SEMESTER - 7th (NEP) 2025-26

Major	Minor	Common Fee	Lab / Science Fee	Subject Tour	Vocational Subject/ Professional Course	Practical Fee (Sem. 5 and 6)	Total
Arts & Humanities/ Social Science / Commerce / Mathematics	Arts & Humanities without Geography/ Social Science /Commerce	9783	--	--	--	--	9783/-
Arts & Humanities	Mathematics	9783	--	--	--	--	9783/-
Arts & Humanities/ Mathematics	Physical Education/ Library Science	9783	--	--	--	130 + 130 = 260	10,043/-
Arts & Humanities / Mathematics	Geography	9783	154	110	--	130 + 130 = 260	10,307/-
Geography	Arts & Humanities / Mathematics	9783	154	110	--	130x8 =1040	11,087/-
Arts & Humanities/ Mathematics	Computer	9783	154	--	2898	130 + 130 = 260	13,095/-
Arts & Humanities/ Mathematics	IT	9783	154	--	2660	130 + 130 = 260	12,857/-
Mathematics	Physics / Chemistry	9783	154	--	--	130 + 130 = 260	10,197/-
Physics / Chemistry	Mathematics	9783	462	--	--	130 x 8 = 1040	11285/-
Physics / Chemistry	Physics / Chemistry	9783	546	--	--	130 x 10 = 1300	11,629/-
Physics / Chemistry	Computer	9783	546	--	2898	130 x 10 = 1300	14,527/-
Physics / Chemistry	IT	9783	546	--	2660	130 x 10 = 1300	14,289/-
Botany / Zoology / Geography	Physics / Chemistry	9783	546	110	--	130 x 10 = 1300	11,739/-
Botany / Zoology / Geography	Botany / Zoology / Geography	9783	546	110 + 110 = 220	--	130 x 10 = 1300	11,849/-
Botany / Zoology / Geography	Biotechnology / Sericulture	9783	546	110 + 110 = 220	1610	130 x 10 = 1300	13,459/-
Physics / Chemistry	Biotechnology	9783	546	110	1610	130 x 10 = 1300	13,349/-
Biotechnology / Sericulture	Physics / Chemistry	9783	546	110	1610	130 x 10 = 1300	13,349/-



**SHRI KRISHAN CHANDER
GOVERNMENT DEGREE COLLEGE POONCH**

*Accredited Grade 'A' by NAAC
(Affiliated with University of Jammu)*

Near Bus Stand Poonch – 185101

**Phone: 01965-220231, Email: degreecollegepoonch@gmail.com,
Web: www.gdcpoonch.co.in**

Biotechnology / Sericulture	Biotechnology / Sericulture	9783	546	110 + 110 = 220	1610 + 1610 = 3220	130 x 10 = 1300	15,069/-
Biotechnology	Botany / Zoology / Geography	9783	546	110 + 110 = 220	1610	130 x 10 = 1300	13,459/-
Biotechnology	Computer	9783	546	110	2898+1610 = 4508	130 x 10 = 1300	16,247/-
Biotechnology	IT	9783	546	110	2660+1610 = 4270	130 x 10 = 1300	16,009/-
Biotechnology	Physics / Chemistry	9783	546	110	2660	130 x 10 = 1300	14,399/-
Computer	Mathematics	9783	462	--	2898	130 x 8 = 1040	14,183/-
Computer	IT	9783	546	--	2660 + 2660 = 5320	130 x 10 = 1300	16,949/-
Computer	Sericulture / Biotechnology	9783	546	110	2898 + 1610 = 4508	130 x 10 = 1300	16,271/-
Computer	Botany / Zoology / Geography	9783	546	110	2898	130 x 10 = 1300	14,637/-
Computer	Physics / Chemistry	9783	546	110	2898	130x10=1300	14,637/-

**Sd/-
Principal
SKC Govt. Degree College
Poonch**